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3.1 itemize

\begin{enumerate}
\begin{itemize}

\item 0000 ($6650$km)
\item O OO

\item 00000 ($6400$km)
\item O OO

\item 00O ($6300$km)
\item O OO

\end{enumerate}
\begin{itemize}
\item OO0 OOO0O00O0O =

\item OO OO0
1. 0000 (6650km)

2. 00000 (6400km)
3. 00 (6300km)

\end{itemize}

\end{itemize}
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3.3 description

\begin{description}

\item[O0 O] O (second,s) OO${}"{133}Cs$0 00000 T OO OOOOOMOMN$F=4,M=0$00 0O $F=3,M=0$)
0000000000 0O00%9 192 631 77040 0000000000

\item[O O] OOODO (metre,m) 0O00O0OODDODO ($1 / 299 792 458¢s) DO OO ODOOODOOO
\item[OO] O00OD0OO0O0OOO0OO0OOO0OOOOO (kilogram,kg) DO OO

\end{description}

=

00 O (second,s) 0033Cs0000000000000000 F=4M=0000 F=3M=0)0000
000000000 919263177000000000000

00 0000 (metrem)00000000 (1/299792458s) 00000000000

00 0D00000000000000000 (kilogram,kg) 0000
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— Y, \Upsilon =Y, \Phi —= &, \Psi = ¥, \Omega — )
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